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23. EVA Mathe - Klasse 7¢

Lésungen zum Aufgabenblatt fiir den 20.04.2005

-2x2 + 2y

1._ 1
2= 10

(=]

1102
O’G(Ik11X)_7x—11xz_Q_lsz_lx_1_1X2_3_1X_5;X2
0601 2 2 2 2 R 2

[-p+ql(-r)=pr-gqr
-2ax3 + ax2-04ax3 = ax? - 2 4ax3

3x+4-4x-x+2=3x-4x-x+4+2=-2x+6

2a-12b +18a+12b - 20a=2a+18a-20a-12b+12b=0

3aZb - 3abc - 2b2c + 3abce - 3ab? + 2b2¢ + 6ab?
= 3a2b - 3abc + 3abc - 3ab2 + 6ab? - 2b2¢ + 2b2¢ = 3a?b + 3ab?

4a-4a+4a-05b-05b-4a-05b-05b
= 16a? +2ab - 2ab - 0.25b2 = 16a? - 0,25b?

=3 .4 . K. 3.8. w3 .4 ... Kh_3.8. .
=7 3'bm+z-3-m-x-g-z3-ab-5-5-ax

= bm+2mx - %ab-ax

06x2+15x-04x-1-4-(0,1x2+12x-0,1x-1,2)
=06x2+11x-1-4-(0,1x2+11x-12)
06x2+11x-1-04x2-44x+438
=02x2-33x+38



